EEHEMFTE U4 —HEE TR2IEFERRE (FERF] [BER]
[ (B) FH2IE4A1E (F) FHRBEIANE,/ (Bl M) )

LSHFHEB(A) |HEFHE (B) |[REEE (C) |EE (B—0C) RE
EEFT TFRXYIED)
IRA
SEIRA 81, 700, 000| 81, 053, 000| 81, 393, 000] A 340, 000(=EUXA
EFRIA 18, 566, 000| 16, 759, 000| 16, 532, 208 226, 792
SmEIRA 18, 539, 000( 16, 727,000( 16, 456, 000 271, 000|FHE2S MEUINA
BN - IEFHEARA 12, 000 8, 000 55,958 A 47, 958|ERFUINA
ZDHDEFINA 15, 000 24, 000 20, 250 3, 750 | Hi B #URA
ZMASESEINA 1,000 1,000 24 976| 0 EEF| BUXA
Z DD UXA 0 273, 000 273, 600 A 600(/\> FT v U REHIA
EREBINAG (1) 100, 267, 000| 98, 086, 000| 98, 198, 832| A 112, 832
X H
ABEZH 24, 595, 000| 24, 371, 000( 23, 960, 294 410, 706
TOER R B H 7,700, 000{ 7,700,000 7,405,872 294, 128/ EMRELRE
AERBSXH 16, 8569, 000| 16, 671, 000| 16, 554, 422 116, 578| = HBELUBRA S REE
EXEXH 54,578, 000| 51,752, 000( 48,417,577] 3, 334,423
B B < 32 HY 1,970,000 1,451,000 1,378,873 12,127 | BHE=F B & F
RER3ER X H 22, 060, 000| 18, 808, 000( 18, 620, 092 187, 908
BBREREZEEXH | 20,670,000 17, 635,000( 17, 445, 216 189, 784 |RAEHREH - BHERHIRES
EEFREXEEXH | 1,390,000] 1,173,000( 1,174,876] A 1,876|sHE=FFAETIRESE
HERSMAEH 860, 000| 1,301,000| 1,177,344 123, 656 AL = Mm%
N | 3 2 2 57 5, 680, 000| 5,522,000 5,196, 041 325, 959 |HHERH &Y - REEHNRRE
S E R E S 4,320,000 4,398,000 4,150,799 247,201 |FAEEH - BEEERAARS
SEBEXH 1,090,000 1,341,000 1,467,074 A 126,074|=& - HESHHRBES
EHEEEXH 120, 000 120, 000 121,336] A 1,336|HEEESEEHNESF
L85 H 1,042,000 1,040,000 1,038,960 1,00|HPERES
EBEREXH 5,845,000 5,849,000] 3,922,516| 1,926, 484|REFEXHKERES
FHEHEXZH 45, 000 228, 000 158, 136 69, 864 FSEEEB K F
EfEMX W 10, 953, 000( 11, 324, 000| 10, 810, 385 513,615/ - AESRERF
B AR 213, 000 27, 000 34,200 A 7,200|ABFENHEL
RerE 360, 000 324, 000 324, 000 0| R T LRFH
BHEXH 20, 000 12, 000 11, 651 349 |EhRRF L EEREF
M H 0 7,000 6,170 830|TE R EUHFHH
EHEW 3,140, 000| 3,200,000 3,309,795 A 109, 795
EHHARGRXH 1,100,000| 1,011,000{ 1,184,408 A 173,408
HEMRXH 1, 100, 000 920, 000| 1,093,688 A 173, 6883 fEi{Ep B 5
HEMHHREXH 0 91, 000 90, 720 280|P CEEAESH
N | 3 2 58 37 560, 000 780, 000 152, 224 27,776 O E—HfERE
i (B T 680, 000 674, 000 673, 874 126|835 - EECER
FHHXZH 350, 000 350, 000 348, 807 1, 193[SR{TiIRAFHH
BEfEHXH 340, 000 330, 000 331,880] A 1,880\ @EMRAM
BN EXH 100, 000 50, 000 16, 200 33,800 EFHE
M H 10, 000 5,000 2, 402 2,508 | i EBERER
SEEXH 720, 000 820, 000 820, 000 O[FRAEEEE
BRE X H 9,325,000| 9,125,000 9,120,000 5,000(70y o BiR. REMEET
BESXZH 2,512,000 2,512,000 2,512,000 O|FEtUE - EHRETF
FEREBMXHE (2) 94, 870, 000| 91, 780, 000| 88, 139, 666 3, 640, 334
EEEHASINEEM 3=1-2) | 5,397, 000] 6,306,000( 10,059, 166/A 3,753, 166
B =S
IRA
< gﬁ%&%ﬁﬁ%ﬂl)\ﬁ (4) 0 0 0 0
b
[ & & i X H 5, 325, 000 0 0 0
Y2 b 7IWEXH| 5 325 000 0 0 0
MR BIEE X HHET (5) 5,325, 000 0 0 0
mEBHEESNXEE 645 |A 5,325,000 0 0 0




LMTHE(A) |BEFHE (B) [JREE (C) [=& (B—0C) AE
 [Z0#DESIC & SHINK]
IRA
ZFDHOEBIAG () 0 0 0 0
X H
J—EXRSEEAEIZH | 5, 000,000[ 5,000, 0000 5,000, 000 0
EAnEaSguEEgAszH| 5,000,000/ 5,000, 000( 5,000, 000 O REXERIFHADEA
ZDMDESZHE (8) 5,000, 000 5,000,000] 5,000,000 0
OMOEHESWETES (9=7-8) [A 5,000,000{ A 5,000, 000] A 5,000, 000 0
FEEXH (10) 0 0 0 0
LMASRT WA (11=3+6+9-10) |A 4,928,000, 1,306,000/ 5,059, 166(A 3,753,166
AR ERZE (12) 58, 816, 000] 59, 807, 000] 59, 807, 602 A 602
LEHERZIESRE (11+12) 53,888, 000] 61,113, 000 64, 866, 768| A 3, 753, 768




2EHIMF LS —RER TR2IFERRE (KEIZERFIRE] [RER]

( (B) E21E4A18 (F) FR28EIAB/ (BEAL: M) )

LHMFPHE(A) |HEFHE (B) [JREEE (C) [ER (B—C)
EEFT X EI
FHEWA o[ 1,000,000/ 1,000,000 OlExtELFE 2 —DLORES
S REHEWA 0 0 355 A 355
SZWAREHEWA 0 0 115 A 115|AEF BINA
EEWIRESMARELSNA 0 0 240 A 240 "
BEEREBRAE () o[ 1,000,000{ 1,000,355 A 355
EXEXH 0 50, 000 50, 000 0
ZDHDKEHEXH 0 50, 000 50, 000 O ERA~ADIRFTED
BHEBHIHE (2) 0 50, 000 50, 000 0
EEEHESWMIESE (3=1-2) 0 950, 000 950, 355 A 355
GEIIEIRETYEI
MERiRFIAG 4 0 0 0 0
M REFEXHE 5) 0 0 0 0
BREHESEEMETEE (6=4-5) 0 0 0 0
[ZDH/DFHHIC & HINFK]
EEHRIAEEDHRA 0 50, 000 50, 000 0
HEHZEESWIRTERBRA 0 50, 000 50, 000 OBt B~ DR AT S F D 1= 8D DB
J—EXRSMBEASIA | 5, 000,000( 5,000, 000[ 5,000,000 0
BEnEssanEEmA2RA| 5, 000, 000[ 5,000,000/ 5,000,000 0| RKAEEHISDERAE
Z DD FEEURAE (7) 5, 000, 000 5, 050, 000{ 5, 050, 000 0
BEEBIEETH 0| 6,000,000/ 6,000,240 A 240
RERTBESW T EERT T 0 6,000,000/ 6,000,240 A 240|4MPEOELEEZ M L REQ
BiIEEXH 5, 000, 000 0 0 0
KERBSEIAER/IXH| 5, 000, 000 0 0 0
T DD FEEIZHET (8) 5, 000, 000] 6, 000, 000[ 6, 000, 240 A 240
TOMDEHES MK EE (9=7-8) 0] A 950,000{ A 950, 240 240
FEEXH (10) 0 0 0 0
LEESMTEEST (11=3+6+9-10) 0 0 115 A 115
AMRZILEEEZS (12) 0 0 0 0
HPRZILEEZS (11+12) 0 0 115 A 115
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